C:h Rewriting Expressions Name:

Rewrite each expression in itssimplest form. Answers
Dy - (YT 3) )
2
D (YR-12)- (YR + 4) 3
4.
Y (Muc-1)- (V) .
6.
Y (Y 10)+ (Ypw+17) .
8.
¥ (7G-15)+ (/G +8) o
10.
6)

(VouM -12) - (7 M +9)

) -( 1/10H'3)-(8/10""16)

¥ (X +11)- (X -3)

? _(_2/32-'-20)-(2/62-10)

O (ZE+e)-(7E-10)
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ﬂh Rewriting Expressions Name:. Answer Key

Rewrite each expression in itssimplest form. Answers
K (4/6T+11)-(3/6T+3) . l/6T+8
VT +11- 7T -3 . - 7,R-16
2 YR-12) - (TR + 4) . /uC4
YuR-12-",R-4 L JWHT
Y (Chac-1)-(he-7) . /BT
7uC-11-7,C+7 o M43
Y (Y 10)+ (Ypw+17) . /H+o
W - 10+ VW + 17 N AE:
¥ (7G-15)+ (/G +8) o /210
G+ 15+ /4G +8 o JE+HA
P (VM -12)- (TgM+9)
YoM +12-TM -9
) ( 1/1o|'I -3) -(8/10|'I -16)
H+3- 7 H + 16
¥ (X +11)- (X -3)
X - 11 VaX +3
Y (Zz+20)-(Yz-10)
7z -20- 77 + 10
D (YE+6)-(VE-10)
YE-6-/4E+10
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